12,

13.

o 0 o 3 9
S
Choose the correct alternative from given

ones that will complete the series -
23,159, 79.6, 423, 2574, (6]

% T8 Ty 93 )

(A)+ 18067 (B) 8432
(C) 10300 (D) 5632
& lﬁf‘iﬁ e v i “MADRAS® 51

“OWNHEQ” ferar mar 8 | 3¢t e
“SUNDAY" =t %& feran simam 7

In a certain code language “MADRAS”
is written as “OWNHEQ”, How will
“SUNDAY” be written in that same code ?
(A) UWZYWR (B). UWZRYW

© (C) WUZWYR (D) WUZRYX

14,

feis

15.

v S 7 Tt werr 2, fe 97 o
o it gem % i 3 fef wem 2 | =7
o & 3 2 i mea & o 7 e
FT wgar B | o1 IF U RN fig @

Prafamdt e

(@A) TR ® w

(€) gt . (D) W
Shyam travels 7 km North, then he turns
to his right and walks 3 km. He again
turns to his right and moves 7 km
‘forward. Now in which direction is he
from his starting point ?

(A) West - . (B) East

(C). South (D) North
frferfes s # 0 W RY M E |
frm =t elewt o T frard € |
31T 58 & Rmm i g B |

(A) TigHis B 3@

() sefis (D) WIH

In the following question, some words
are given. They have some common
features except the odd one. You are
required to find odd one out.

(A) Ravage (B) Distress

(C) Harass . (D) -Amoy

R )
UPP Constable Question Paper

18.

Ju v § e A ghs
33 @ orer & (an < o A A1)
st aoten @en A€ s
If in the word “SPIRJTU‘.J‘\L:’, position 3
second and fifth letter 15 mterchangeﬂ;
similarly position of fqunh and six 2
letter is interchanged with seventh an
ninth letters respectively, then how many
pair of letters in the new word -have as
many letters between them (?:ther
forward or backward) as.they have in the
English alphabet series ?

A) 6 (B) 4
© 5 D) 3
Qﬂ?ﬂ%ﬁﬁ‘lﬁ(ﬂoon)%mﬂ‘gﬁiﬁm

2 14 79 10 firre w, w2 1 g qm gt
LGk e

A clock is started at noon. By 10 minutes
past 4, the hour hand has turned through
(A) 135° (B). 125°

© 130° ) 120°

Qo H w57 T 9l W, o
wT$ } | T % e weR § | o, tw Ry

@ E 1, e A e R e, TR

W H A R | U, g A R R
Hafra g ¢
(B) 3

(A) v

(©) i (D) it

Suresh’s sister is the wife of Ram. Ram

is Rani’s brother. Ram’s father is .
Madhur, Sheetal is Ram’s grandmother.

Rema is Sheetal’s daughter-in-law. Rohit

is Rani’s brother’s son. How is Rohit

related to Suresh ?
(A) Nephew ,

(C) Brother

(B) Son
(D) Brother-in-law

>
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AT Tl e % 5 ‘,

TS g I THAE

5 Wi gl | s

o m@ﬁmﬁsﬁw@_@a
&1

TUTH € T @AW Hi

|
(B) 3 e % ot g0 dnt oy

©) T o &R e e wew @ w |

BU HATER B9 i |

(D) wieths sfma $ fm
ot =t s wiieeh =five |

In the climax stage of a nationwide terror

manhunt, you learn your only parent

suffers a debilitating stroke. You should :

- (A) commit singular focus expecting

siblings to handle parent.

(B) remotely coordinate certain areas
without Ops leadership:

(C) conceal news avoiding distraction
till mission completion.

(D) handover reins to accomplished
deputy for family priority.

Hifgan ¥ Senenr Wi wE 9=

T |, ST ¢

(A) et Wrierd o fomn argeeht e

© Prlge ) e s T |

(B) Tarara wrm w1 ¥ fem wR wwei A

iR w1 SfeTa T A T

T =R |

(©) o et e gfer 1 e %
et & e T W e S
T 91 |

o) m:mm'mhﬂﬁmalﬁm%.

et TSR PO 1 =R |

‘When investigating rape forensic
evidence from victim, you should :

(A) transfer to expgnenced Woman

Inspector without direct

i vement. ot B

(B) ;:I:g(lmally interview the victim in

plain clothes to build trust. g

(C) focus on Medical test ruthlessly

without any women police present.

(D) complete documentation  along
" with FIR using pseudo-name.

T e A
T e 0

; itizens

As a police officer, transgender C1UZ€!

rcportp facing harassment and dlgnlt){

violations = during law enforcemen

interactions. You s_hould : .

(A) take complaint and forward it t0.
Human Rights Commission.

(B) implement mass sensitization
drives on appropriate c_:onduct. :

(C) enforce strict disciplinary actions
against offenders.

(D) depute gender-rights community
volunteers for engagements.

s gfers st & w9 H, o7 3@a & fp

Fo Uil sreTEEE! B TS § Tav @

e frar s @ | | s :

(A) FeTEErs qqeE % AfETTE 5
T s fafarer wmy e s |

®) Fremdt ®1 w H srerEes
FeA A B OEERE

| ;
©) mﬁmm%m“ﬁ-mﬁ
wmmmm.
(D) HTH 1 IeAH H A wrI R
il W sy W IR
A lice off l -
S a police officer, you notie i
religious mim‘)riiies}r bei(rjlt;e 3ert§m
neighbourhood entry. Yoy should ; e
(A) enforce diversity :
minority commun;
(B) refer complaint:x:gyo
c welfage schemes,
(©) Organize multi-faith. co
dialogues to ease tensions,
(D) arrest  and  prosecute
societies flouting laws.

by  posting -
fficers. 8

mmlll'lity g

housing
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@ em SR A, A
ol & T ghem v 3 g e
2 | Fretforfiem § 2 = T 3@ it
AN R R T IR ?
(A) F-TRiES
(B) Heha it
(C) e g
(D) RIFEEE e
As a police officer, you are assigned to a
police station in a district. Which of the
following is the name of the officer who
is in-charge of the police station ?
(A) Deputy Inspector General
(B) Circle Officer

(C) Superintendent of Police
(D) Station House Officer

e T ¥ w9 H, I A e

# w1y frofr &% 3 o wwlests wom 2

(A) =afFTm At e B AR FE,
e 3 wenfira et 3 i &t 1

B) fafa % fog s 3R frem %
FE

(Cy A Iftsdl & HEel W T WY
form a6 aTTeT <1 T HE |

(D) =fRrm aRfRfE f wr B

o, A 1 e weE A e
HET | '

As a police officer, what would guide

your decision-making in enforcing laws ?

‘(A) Applying personal moral values
even. if they conflict with
established regulations,

(B) Balancing legal requirements with
empathy and consideration for the
situation.

(C) Following the orders of your

superiors without questioning their
judgment.

(D)  Strict adherence to the letter of the

law, regardless of individual
circumstances,

10. mﬁa(?)%ﬁw‘“”g"" |

ﬁf;m;:ﬁlﬁ'ﬁ:?
@, A @
© @ O T

Find suitable alternative in place of
question mark ™.
Mother : Child : : Cloud : ?

(A) Weather (B) Loud

(C) Rain (D) Shine

ﬁﬁ.‘?@q@@?ﬁﬁmﬁ%m“
Faer e 3 Fide ot IeeEd B 8 |
FTIH :

(A) memfers ygEl H wEEd H A
R W W W[ TR Y W
Hageie S =R |

(B) 3T el i THR T@d §LH
Bf-Trarsit & Reems ardafis 9
TR T =ht weeh & =i |

©) g A g R & s R |

(D) 3R smawash & @t fdeft wE
T e A e = |

As a police officer, certain religious

customs  violate  Supreme Court
directions on entry of women in places
of worship. You should :

(A) sensitize opinion leaders leveraging

spiritual heads’ assistance.
(B)

publicly threaten charges against
customs upholding court rulings.

avoid the situation by taking
leaves,

©

(D) enforce directions by removing

opposing groups if necessary.

R s T
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2 T
: Re v 5K gt
B, % » i
mmwﬁﬁﬂ‘ﬂﬁﬁmgﬁﬁ 16, R T “SPIRITUAL {?;1 St &
*JEE 1w ; St 7 TA T A ey
Choose the correct altemnative from given 3 wR = 3 T3 FERHI gt
ones that will complete the series - e afn A e & e fean STl & €
?:) 15.9,79.6, 423, 2574, (%) u v § st R A & =
", L8067 (B) 8432 R o6
(©) 10300 (D) 5632 s @ d @d 3‘: a1 18)
St ot EAHE 7
1 e @ .

13. o lﬁiﬁgﬁlﬁc‘. wTeT . # “MADRAS™ =it Ifin the word “SPIR]TU:‘\L:’, position gf
OWNHEQ” ferar wmem & | 3t gz second and fifth letter is interchange -
“SUNDAY” =t 33 foran s similarly position of fourth and srxtd
In a certain code language “MADRAS” leter is interchanged with seventh an
is written as “OWNHEQ". How will ninth letters respectively, then how many
“SUNDAY” be written in that same code ? pair of letters in the new word -ha\'_e as
(A) UWZYWR (B)- UWZRYW many letters between them (either

© (C) WUZWYR (D) WUZRYX forward or backward) as.they have in the
. English alphabet series ?
14, v IR H 7 Fodt weran &, e 9w o A 6 (B) 4
¢ 3 g & 3R 3 el e @ 1 e L @, 3
mﬁmﬁﬁta@m%?ﬂﬂﬁ 17. TF 9 QU (noon) % HAY Y& hi Wt
3 e R | I g T R fig @ 1 4 7wt 10 firre W, 5 1 g g g
frafamdt e ik A

@é (A) W ® T’r‘ A clock is started at noon. By 10 minutes
(C) eftrm . (D) FW past 4, the hour hand has turned through
Shyam travels 7 km North, then he turns (A) 135° (B). 125°
to his right and walks 3 km. He again (Cy 130° (D) 120°
turns to his right and moves 7 km . ;
forward. Now in which direction is he |18. B ) w5 77 ! veft & | T, T =y
from his starting point ? g & | T % R R £ ot T
(A) West - . (B) East @ E :
(C) South (D) North | 31, wfteret 1 =g 2 | Ufem, wh ¥

- ﬁmaﬂﬁlﬁ%ﬂ,tﬁ_ﬂﬁ'ﬁmm

15, frefafen v # 3o v Ry # 137 w3 7
frem Sz o g et € | (A) W= ®) ¥
Tl T @ R e | : © W ©) st
(A) TigHis By 3@ Suresh’s sister is the wife of Ram. Ram
© safigs (D) Tw is Rani’s brother. Ram’s father is
In the following question, some words Madhu_r. Sheetal is Ram’s grandmother.
are given. They have some common Rema is Sheetal’s daughter-in-law. Rohit
features except the odd one. You are is Rani’s brother’s son. How is Rohit
required to find odd one out. related to Suresh ?

(A) Ravage (B) Distress (A) Nephew , (B) Son
s ek O B (©)  Brother (D) Brother-in-law
A 5 AT AT s T v
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19.

20.

21.

o § 4 = o1 I Wi, T
mﬂ%-ﬁaéﬁuaﬂwﬂmﬁm
21

Which of the following diagrams best
indicates the relation between India,

Gujarat, Surat ?

(A), ®) OOO
© ©O ®

L

+ 24-%° X
FATL:120+3+8x3-40="7
Solve:120+3+8x3-40=7
(A) 74 (B) —24
(C) -256 ) 24
ﬁﬂmmmmﬁaﬂz;ﬂa
R H ITWE |

Study the following figure and answer
the question given below.

st
[]-> s /

Trained nurses

O~ e |
Married population

S\~ smmm i |
MNurses in hospital

TEA 78 1 AT A R 7

(A) ot sl =

®) srriea sl

(C) zrorare i faanfea @

D) wfufim =

‘What is represented by the number 7 ?
(A) Married trained nurses

(B) Unmarried trained nurses

(C) Married nurses in the hospital
(D) Trained nurses

@ @m%ﬁ'ﬁ%m4x3x3%‘ﬂ§| .

23.

24,

‘There is a cuboid whose dimensions ax |

" (C) RETUNES

\
ST 4 x 3 % Tl e e W dg
nq§|mamﬂ4x3%ﬁnﬂam‘_-
@ T E | o 3x3H gy
e A T B T T & | 37 T B 1 ¥y

s Tt O W 3 e R S 1
ﬁsﬁﬁﬁém%ﬁﬁfﬁ?mﬁﬂqﬁ? :

4 x 3 x 3 cm. The opposite faces of
dimensions 4 x 3 are coloured yellow, |
The opposite faces of other dimensions |
4 x 3 are coloured red. The opposite
faces of dimensions 3 x 3 are coloured
green. Now the cuboid is cut into small
cubes of side 1 em. How many smal
cubes have three faces coloured 7

(A) 20 (B) 12 EE

©) 16 (D) 8

forrferfian s 1 U wreg fan N R, 9E
g =R 7 W iy o g, el 3 o
M g F AGU B IYET Bk T I
THATE | TEIR G |

In the following question, a word has
been given, followed by four othel |
words, one of which can be formed using |

the letters of the given word. Find the! |
word.

MEASUREMENT '
(A) MANTLE (B) SUMMIT :
(D) ASSURE

e i il & 173 afead @190
W W R, @ 39 ufe & sefigad AE |
venfeatid 7 .
In a row Mihir is 17% from the left a0 8

19" from the right, then what is the tote) 3
number of candidates in that row ?

(A) 36 (B) 31
© 35 D) 29

o

e ) g




25, v A @ wlh s & v

P

A

e )
"Ea)

I B A T v w w R |
Fraferfea fmm e 3 .

) ﬁms_a%am{
(2) FERTWHATHEAR |
3 @ﬂﬁﬂsﬁﬁﬁﬁnam%%|
(O]
m,ﬁf@:ﬁﬁimmaﬂﬁ@,%ﬁaﬁ
3 srireTen % o W i T e

Frefda for & | Suzem =1 var @ |

e 37 L 37 HT AR |

A scientist is trying to recall the access

code to a secure laboratory. He

remembers the following details :
The code starts with the digit 5.
The code ends with 987.

(3) The second digit is the sum of the

first digit and 3.
(4) The third digit is half of the second
digit. '
Now, considering these conditions, the
scientist has narrowed down four
_ potential access codes for the laboratory.
Find thé suitable one.

(A) 548987 (B) 584987

(C) 563987 * (D) 542987

Tﬂqmﬂﬁémﬁ@ﬂ,m
S AT E |

IL mqﬁﬁﬂﬁ%,aﬁ@m'ﬁ
R 7 & L |

I A S 2

L 7 e fafire ger 8 wffra g 2 |

Ol ¥M Yy &9 & qrfe ey &

T W T HT

1 3R 111 gl Srger a2 |

rere foremd 11 STER0T A R |

(C) 137K 11 Gl TR e & |

(D) e Fremd 1 e Fem § |

In the question below two statements

followed by three conclusions numbered

I, Il and III are given. You have to

assume everything in the statements to

be true, then consider the_ three

conclusions together and decide which of

them logically follows beyond a

reasonable doubt from the information

given in the statements,

Statements :

I.  Water has no shape, has volume,

II. The knowledge is like water,
flowed from one side to other.

Conclusions :

L. The knowledge is interdisciplinary,

IL

(4)
(8)

The knowledge is bound within a
specific area. -

III.  The knowledge influences the core
of mental activity directly.

(A) BothIand III follow.

(B) Only conclusion II follows.

(C) BothIandII follow.

(D)

Only conclusion I follows.

TR A PRI
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e R —

27. T T fi5
W, 2y oy TR RRIm A B |31, ww o @i oAt

o Rt e
SRS —

(3) R (4) § & 7 A ampla
ot e et LI e ichid,
and (4 ¢ figures (1 TR fBm i
S e ) 0,0) Rt . Frads ot P
HEES. A U3 Mm.w @Mw @) aﬂwﬂ 37 fam A A S AL F
[N D LIEE Q). SRz e () — @) g () frEEer
of the followi B
' IGEANN | 0, ® Ut o bl |, ST g i
[ m N ng an S|
W@ @ %W ® W Mmz @ ® @ O A)" The Chilka Lake of grapes is lbwn as which of the
©) () 2l mw ) (3) ® 0 nw ﬁm mw_ogman_s Salt Lake following ?

8. = Pt 0, @A TR T | D) The Eollens 1oct Lake (A) Horticulture (B) Pisciculture
Pilasabiliivi il B el il ity W i P st
Find out ?saiwamﬁg w.g%aﬂg%ﬂ%i;a ) s i i il Herfeen 61 wafed ¥ ¥ g B @
altemategs o™ amongst the four | (&) 9fre ? i © W () v fdl § | vy 6 qg e WRA F
i |(Q st ) s D o sl | T e

. Ol 0
mcmnon_n-_m_.u-a_u:nn_m:n peteot shect, is The number of B ke MMW mmmwﬂ.m (B) Six i MMU Hﬂﬂﬂ L Gmﬂmq_ﬂd?ﬂuﬂm
Eﬁ ) e iiissevery i e & bk B ﬁuﬂ”ﬁ. (D) Five Toe Batlila bl ook
.= B of apples in an hour € basket is fy) : e i fefsfmd atmim s w an ox. This range %%_._m_"_.»nn, the hump of
X) e} basket half-filled 7 when was e wfRmt ¢ which of the followin. is situated in
(A) (4 A) g 1 1 (A) Tt . (A) K g states of India ?
© o 59 minutes  (B) : | (B) Enifien anatazka  (B) Tamil Nadu
(C) 55 mi 47 minutes (©) amefem (€) Kerala D L
20 A S minutes (D) i Xie G (D) i s (D) Chhattisgarh
. A, BHEWRIC BH 38 minutes reat Barrier Reef is located 42, Prefefeadd
f 2 1k, DAl 3 “_;_a.nﬂ 3 o 2 wwwawm.%%__&?a__%;msﬁm%o ﬂ.&ﬁaaﬁﬂgﬁmﬂﬂwﬁaﬁ#ﬁ
&l . | . TR 2. 4 ines  (B) | il R
nﬁ?m.» %% A DES ﬂ._om.+wmxm.+m y mm m,._uuw c) >§w__m B Moo R A EME 7
3 i i . fefafem @ @ B TRy
 a ®) T Simplify : 108 « 36 x w + m 3 .w_ u— _#v“ o ¥ wz._uﬂﬁwf.ﬁﬁuM_M Mo.»m T an MMEA%.«MWA e
i D T o a Ty g oL @ Suhmm P
fathey, poiter, C is B's mother. D is ¢ @ 2= @ 2l st S (B) wemewEw iEw : Sri Lanka i
related to m ._.D s mother. Then how is ___ﬂ __H o wnr& 1a] Ew m. _ (©) &l .3, awigm =wz9,__ nnuw:”“n_wqam_ﬂ_ mwna:..ﬂn__..%wﬁ bya
mmw ME_#_ daughter (C) Nw ® FF h_ —3 m__w_vs .m“.:o_.ﬁmﬁﬂg.. T wh:«%ﬂ_h.wﬁm _wm ; which
© UEE father 20 5" President o:_gﬂnu following was the (B) The P ofMessina
(D) Graghur 4. Pl 2w n foen 2 g Festiteat ol The Constticnt Assenibly o, The Palk Stait and the Gulf of
mother NI S ™ (A) Dr. Rajendra Prasad ; (C) The Makassar Strai g
LG LT ey @ pmbi () e Egh D e
Choose the al ST & | i 3. P “. Mﬂm (D) Sardar Vallabhbhai Patel 43 %Whm»ﬂ%qﬂnﬁwwnﬂ?m
alternative  whi - . 39. “mam - =
resembles the Ve which closel 5. safen” 1 = Feffe i # amhfm 2R
BR. bination, O image of the given S?ﬂh the fol g&nﬁﬂam&is ! e %waqaﬁw ' =
4AQ16H] Which of the following option would be (A (B) ® (B) omwm
(A) THYIQASE gful order of the followi (©) wafa C) Tafemm
. E words ? 2t (D) wfdm © ©
B) TH6IQARAL 3 ugsm_ 2. Night Qe Joeg todr e b The Sonepur Cattle mm._ww
(c) IHa1QA 2y 4 55 it whom  among  the event held at whi a cultural
Lid 5 . Sleep following in Sanskri 2 which of the followi
(D) IHoIQAMAH A._» Work M> Bardhe sk nw S 2“_8 of India every ycar ? ollowing
S o) AQU w. 52,1,4 (B) 3,51,2.4 C) Bhavabhuti MUW Harishena mnw Mﬂﬂg (B)  Assam
e i ,5,1,4,2 "(D) 1,3,5,4,2 : : — (D) Bihar

>3
It}

8 S
A FK2
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. fa e P e Pt ¥ |48 S iR e fefite va
44.

#fea A d :
(A) 253 (B) 59
© 1w (D) 23

e Book Day” is celebrated on
aﬁwﬁ?ﬂa_ahﬂm day every year 7
(A) 25%June (B} 37June
(© 7haApil (D) 23 April
#
45, Frefifea § & e 19 % g@ fed
Y w7 e A e
el fasifira g ot ol geg
27
(A) W (B) wAlEH
() fmawm (D) T :
The parts of which of the followin;
states had evolved a local system of
canal irrigation called kulhs over four
hundred years ago ?
(A) Kerala
(B) Kamataka
(C) Himachal Pradesh
(D) Gujarat

4. &m%ﬂﬂuﬂﬁnm&ﬂﬂﬂu
e

(D) TR SfRTd

What is the highest post for Census

Organisation in India ?

{A) Sr. Technical Director

(B) Registrar  General
Commissioner, India

(C) Deputy Registrar General

(D) Census Officer

&  Census

49.

50.

] - ALCo)
Eal .__ﬂh_mﬂn_ FEiE mw—.ﬂﬂﬂm " .@W,‘m
WEWE 7

(8 TR, "

(B) Tome, arem

(©) wae, Fifem

(D) e, v

National Aluminium Company Limiteg
(NALCO) is having its registered office
at which of the following places ?

(A) Raipur, Chhattisgarh

(B) Digboi, Assam

(C) Bhubaneshwar, Odisha

(D) Noonmati, Assam

o @ra W1E (WHO) ® TSR
Frefafa i & emw el 7
(A) U, W

(B) Forn, el
© s, Ao
(D) wTEw, Hiewie
The headquarters of World Health

Organisation (WHO) is located at which
of the following places 7

(A) Paris, France

(B) Geneva, Switzerland
(C) Brussels, Belgium

(D) Amsterdam, Netherlands

S wEd A A ow awf

SEE frerfefiga #
4. e el § A dwe | O e g R
1w i 7 dmmmE A 7
(A) =gt (&) e - ® s e
(By wnfa (€) hufrafem (D) Tl
(€) werwfa Fferar The increase in the proportion population
(D) Fegu of a country who live in urban areas is
“Kumarasambhayam™ is the litera known as which of the following 7
waork of which of the following «.:.:«aﬂ (A) Rustication
(A) Mahadevi
(B) Bharavi (B) Unplanned Development
(C) Mahakavi Kalidasa (C) Colonisation
rerrea D) Kalhan (D) Urbanisation
10 A

m_.uﬁuwﬂm?&%%mwﬂm
e & T wfag ® 7 .

Bhadohi that is located in Uttar Pradesh is
famous for which of the following art ?
(A) Glazed pottery

(B) Chikankari

(C) Saree weaving 56.
(D) Carpet weaving

52, Frfafa # & 97 @ w0 R0 w1 v
ELL
(A) == (B) =g
s (C) AT (D) ¥E
"J5: Which of the following is the state tree
“ of Uttar Pradesh ?
(A) ‘Bamboo (B) Banyan
(C) Oak (D) Ashoka

53, g o wim s § frel gt
i ar 93 &l B wad el o amt
&, 3w wem % fafafes 2 frw frd &
femi 7
(A) WAFERTR (B) w
(C) Titegr (D) aferm
Surha Taal is the famous sanctuary that
also receives many migratory birds from
Siberia and other colder regions, is
located at which of the following
districts of Uttar Pradesh ? 58
(A) Sant Kabir Nagar s
(B) Etah
(C) Gonda
(D) Ballia

54, Foaffas A & w9 @ dww dfem
<rzed At el ofh At wemr F
for T s &

(a) feiwm (B) ¥

() ¥emm (D) %Wgw

Which of the following social media
platforms is best suited for professional
networking and job hunting ?

(A) Linkedin (B) Snapchat

(C) Instagram (D) Facebook

ot

N R —

g s # @ ey s &

g%wﬂﬁﬁaﬂawm
(A) WTEH TH (8) %M“q
©) qEEmE (D) WEH

Mathura is the birthplace of M—»ﬂﬂ
among the following that is also kno
as Brij Bhoomi ?

ishna
A) LordRama (B) Lord _O.mm
MOW _..”2_ Ganesha (D) Lord Shiva
sy e et # @ R e
wiemt?
(A) @@ (B) TR
() s=m (D) feea

Akbar's mausoleum is located at which
of the following places ?

(A) Etah (B) Rampur

(C) Unnao (D) Sikandara

. Preafafa 4 @ 3@ owem =1 2= W whg

i T UE AR AR Al %
e v

(A) =l (B) e

© goda (D) W

Which among the following well-known
folk dance of Uttar Pradesh is performed
during paddy and maize cultivation ?

(A) Kajri (B)

Rasiya
(C) Hurka Baul

(D) Charkula

(D) TR Jeerve wie

Banares Hindu University was founded by
Pandit Madan Mohan Malaviya with
cooperation of whom among the following ?
(A) Dr. Annie Besant

(B) Rabindranath Tagore

(C) Madam Bhikaiji Cama

(D) Sardar Vallabhbhai Patel
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6. Rfie =1 frefifag 4

62,

N,

K-3

59, ACHCHTF (UPSSF) 1 70 14 Famd |
(A) SR wem Hivrel @1 wrd
(B) I 2w wifers frdiftt wid
(C) I waw wiwet feaiidt wied
(D) 3w yem v it wrf
Give full form of UPSSF.
(A)  Unar Pradesh Social mo_._q.nw Force
(B)  Uttar Pradesh Solid Security Force
(C)  Uttar Pradesh Social Security Force

(D) Uttar Pradesh Special Security Force

60. Faw fa dmE uRRwR oww &

Freferitya & & firm e 6 cw wrm 2 7
(A) wm (B) i

(C) Towma (D) IM W
ivesh Mitra Mobile ap,
ive of which of the
of India ?
(A) Assam
(C) Gujarat

(B) Telangana
(D)  Uttar Pradesh

AR AR 7
(A) read (B) F gz
(C) Fem (D) FEwgg

Demonetisation is also known by which

of the following names 7

(A) Note Ban (B) No Currency
(C) Cashless (D) New Currency
IR T e, 2006 3 AR T
T3 A 0 02, e o I F dEq
sﬂ T e ) Fraferes 3 @ o
e 7

(A) AT (Consolidated)

(B) =My (Grove Land)

(©) Ff uftr (Agricultura) Land)

(D) 4fa (Holding)

A parcel of land held under one tenure or
one lease, ENgagement or grant js known
s which of the following according to
Uttar Pradesh Revenue Code, 2006 7

(A) Consolida ted

(B)  Grove Lang

(C)  Agricultural Land

(D) Holding

R A T e

64,

lication is an
ollowing states

A g Tm A ot

(A) &Eaanse.:u
(B) <fiféM (Cheating)
(C) mu:wmd.,.roﬁnmv
D) @wﬂ%_:.mw:@
An attempt  to obtaip
information such as username,
and credit card details ete. mQ._
reasons, by posing as 5

Sensity,

Pass;
Maligor

Hstuwony,

NM_”“EMP._._ e-mail is called as

ourcing (B) Chea
© Losing”  (p) pheaing
" B i @ o ot
(4) ety (B) g

(©) aiwrw (D) wfify

..,H.»rw..mm_:n currency of which of the
following countries ? .
(A) Thailand (B)  Turkey
(C) Bangladesh (D) Serbia

m_ﬂ?@mmwmﬂﬂﬂﬁﬂn&w?

w7 ;

(A) %ﬁﬁdmﬁﬁwﬂ%wi
T W T S wfrm g |

(B) e g d5w Hive W w3
TEE F TN F WY uh A R
m&%%yﬂ%&&ﬂﬂgﬂ
FE 3t !

(© %ﬁ&ﬁﬁﬁﬁﬁﬁ?

(D) gt AR Fnafi o wd FEn B A

_ .

Sﬂwoﬁﬁa momzoi_:w sentences is 10t

correct h.oum GST .w» commun "t

el _mwﬁn_.__wn throughout the count’

under single administration.
(B) GST is mmno_._.i_.n_.gm_ﬁ levy ﬁ
collection on both go oS i

services at the same rate W
benefit of _.:uw_u tax  credit
subtraction of value.

GST is a destination-based w.wwa%
There are multiple levies 0

goods and services. ey

5

12

P

T

3
i i 3 gm @ H oW
66. ﬁﬁmw%ﬂga&.uﬂa 69 wﬂuﬁdwm?mwﬁw&m%%n
ol il G2 e
(&) el 32T S s :waﬂaﬁ%%n% sireiT
4 (A) (
(B)  rTEvaTet g sy (D) o
(© g g . i has secently
. Migration an 2
D) gv_%_._@w HqoTE »mqﬁﬁ_nmuﬁnwﬂgnwﬂ”ﬂzmmm and which of
Which of the following ports s located HWM »,c_n_uoi_.zwa wg::_mnwuw. Sri Lanka
Fat  in Kuchchh, Gujarat 2 M _%_:dm D) Nepal
¢ (A) Kandla Port (Deendayal pory C) haly ﬂ.m e —
(B)  The Jawaharlal Nehru Port 0. e € A, v ﬂ.ﬂmm [
(C)  Paradwip Port anferea S Freafifem
(D) Mormugao Port g R ? .

67. =@ 9, of ftr e 3 Prorftaa § 3 o T s R,
?a%ﬁﬂﬂm#&%mg © TR,
wﬂﬂ%ﬂ@ﬁi@ﬂ@m@ﬂa& o)) nﬂaﬁ%ﬂﬂw m._..mﬂwzﬂ K
s Cai, fadn, Ny Pt vk
(A) @iy (B) s the ?Wo%iﬁu?wnnﬂwaﬁ
© wm ©) il 8) Fortof lebey AL S £,

Recently, Shri Amit Shah has laid the C ﬂomﬁmuﬂmﬁw__mmmm:w_m%m—_
foundation-stone of the headquarters of a .

National Cooperative Dairy Federation 7). Pt § @ @ T fwewam =
of India (NCDFI) at which of the HETY o7 ¢

following places ? (A) @R I TR EH

(A) Anand (B) Bengaluru (B) e e

(C)  Jaipur (D) Gandhinagar (€) wedt deh

Frefefiaa GUEFT AR D) g 37l fmn

g5 mﬂm.m.a_nﬂ e { 0 among the following was the
U IRE FE H o wy sk founder of the Khudai Khidmatgars 7
%ﬁ&sﬂﬁﬁ»&?@ﬁiﬁ m @J.»éﬁ»m&ﬁ.ﬁ

a
fenamn g ¢ nw m%%aﬂaaﬂns.m.
) q_ﬂd-wﬂm__ﬂm._.ﬂqﬂ Mohammad Ali Jinnah
(B) ©ATEE RN qp.nﬂ?mwmmwwnimﬂ%mﬂ?.
(©) 3w WM TR wEw s haatd
T (KLI-SOFC) 1 e g 3 ¢
(D) o= qrewR e ;
; i (&) oA e fig (B) ot ftm e
Which of the following awards is given o} 5
to motivate Cooperative and Milk ©) i uﬂﬂ@ ﬁﬂﬁwm& .
producer Companies to grow and to :iﬁw%wﬁhu_% X uny._.mta_..wnﬂﬁ slands
instill competitive spirit ? Submarine Optical Fiber Connection
(A) National Gopal Ratna Award Mr-wﬂwnww .nnnﬂmv.qm:
2jnath Sin,
(B) Dhyanchand Award Shri Amit Shah
(C) Arjuna Award C _un.w... ..w_::wash
charya Award D) Shri Narendra Modi
(D) Dronacharya
e T,
5 i 13 FK-3
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. frefofiaa # @ fen faeen 3 ot T
awmE

(A) FW=R, 701 (B) A®E, WEUHR
(©) wem, s (D) eI, A
‘afem’ sin e v Feafafie § 3
o wreg % wiEETE # 7

.

(a) I ® =i
€) = (D) FAd

75, ‘gd 3ft 3w o i o’ vw i
o o vz Prefefsa B A s e 7
(A) $m (B) "=
(© s D) ¥

firm faren & wreg aforem ol = o
Fd-e d 7

(A) WFd-WFd = T Wl - qund
(B) T - WA = =fE - =

(C) o - =i =T -uE

D) fw-fow  =wm-Tm

7. Prafafa § & fee e i ggam i 7
(A) =g HiThe A 21 W Wl w T R |
(B) =W % i ugs e € |

(C) ¥ -t =i S T W & |
(D) % FATFRITATDAE |

Frefifign & & gieem =g =1 = Hif
(A) T (B) T
(C) FwEmA (D) faEm

Tretfefiaa @ @ frm =2 1 wain GhaE

dgmi? |
(A) s (B)
(D) ®BEER

78.

79.

(€) =
¥ a1 g w0 | tEitea e F @ A
ﬂ_.ﬁ«mN

(A) SRS (B) WECH AR
(C) FWFWF (D) & &w

80.

81, Frafsfar g apEaR s @ ¢
(A) wfr (B) @M
= (© wif (D) F=
.m..un_-l..uli-!ll:?:!.l!ﬂt - Jf:ilian!,._..wias

L
Y ey,
—_—

88.

I A i T G e

. afrm re A SR IR R 7

B)
o) adt

(A) ¥
© =

. ‘iR TR AR AT 7

(A) ogEe
(B) ZE@AWE

(C) remftvE aT |
(D) fanwm

., T B A e E 7

Hifm ;
(A) wRm+wa  (B) uR+ e
(© wfeu+smm (D) i + aeE@

. e faed sk R Tm @

27
) TEwRm (B) e R
© Frewmim (D) vew e

. wel vm § e v % GemEE -

w7

(A) TrTETE fao

(B)  ag=mae Rt

(©) mferdie frsrom

(D) i demEi; i

@

T3 R Rt ) g

e g 7 ;
() Somis B (B) g fen
©) ¥gmf (D) i

Toree e maEnd ¢
) # ®) S
€ = o fx

90.

9.

93.

|
_ 92.
|
M
V
,

yust ‘94,

95.

96.

B 7 A

98.

T anfl €N || W T d B @A
#m 7

(4) THAFETE (B) ==

(C) wEET= (D) Har=A

et 1 TS T g Bt 3w :
(A) R ST i EF-TGE B
(B) ur ¥z

(C) HATHHY HHT

D) = FHFA
‘e’ w1 o TR

(A) == (B) ¥

(C) (D) weasl

< T, VT g A W iR w1 A
freffeaddsRme 7

(A) ST el v B S

(B) et @ BT

(C) ¥ =g FIg B

(D) e wiam G

' R a2 ?

A dnw (B) WIFRW
© W™ (D) dETE
e i e ot arge s # e 7T
ot

(A) 16 (B U

) 13 (D) 10
Preferfia & & frm areimR v
B s} 7

(&) THH (B) 39

(©) e (D) ¥ 5
St & & s w5 T SR W
e e d i 1

(&) femm ®) =w

(c) dfen (D) ¥FA -

g AR 91 9F ] || W A w6 FE
g, |

(A) ST YT/ ST

(B) TR TR

(C) i wHIHEE

(@) T -

ot

100.

prefa i R B T P

; (9. |. 99-103)
A st 8 g

| w T A
uﬂaﬂmﬁ 3 .Wﬂ«”.__ﬁwﬂ st &
ﬂﬂ%%ﬂﬂ%&%m@n&
ﬂ%%@«m@ﬂﬂ&#nﬂw%%w
%ﬁglﬁm%aﬁﬂﬂﬂ
2 1 v g & Wy el A
»ﬂﬂ%%%@d&w%i
§, afeF 7 Fera firw, aw, SR,
7 i ST & aEw i e @ o
e & w@iE W owd s o R
et 25 e g i oft o €
o 7w @ & P gl WOTE S
e e wgEa g wE: @
et | T aurRf = Rt e St
%@ﬂﬂﬂﬂw.%%mﬂﬂ@ﬂ
3, et e o el R 3 S T
6 gem o st 6 W I
T € wET B e & o 39 ag W
6 o1 @ 7€ o oW @ =%
T 1 GEE ¥ Iuh wHTE ST 3
s ifrasmdTmawd)

. Wt S = e T § it

(A) TR GEERl 1 9E F AR -
A T 7 |

(B) 3 3 A 3 Wi Y 9 sy
HAT %1 grE-=Te TE A = |

(D) ¥ 3reelt e 3 forw  w
I T it -

(A) v S@ei 6 ghm

(B) v farfdreil <61 gt
(C) s farfiredi <1 aiiri-wig
(D) T il grEwn
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101 .ﬁm—ﬁﬂm@m
111, w@ w 17.2
. 28+
=2
26 23 .

@) M_M_aﬂaf
it © 0 @) sish
. AT D 4
o ) ﬂwﬂw & . 36%02
i awhy ¥ ufy =9 F Simplify : 17.28+x
(A) T 27 (A TR
) A
(€ (B] 5 (B .2
) ¥ ) g 112, frefafe Y12 (C | 17, T
103, it s F D) I= - ﬁ&ﬂsm“ﬂ““ﬂwhuv 10 I v 4idg s ==
msm%%.iaﬁm e, i What il ? e | s o3f 6 i w2 w3
. a2 e il il gﬂa&ﬂwmsﬁiw 121, 3 26, 20
(A Foc) & 5072.19 +n_<:5 puhele question m; { i o ik 1 | 20, 14, 8y - .
: =# § ) WA ’ M__pw wquumwm_m:_%:\.w ark (7) afier 3 years _”.._nv. amaunts b .u_ﬁﬂﬂﬂ
® A aﬁ_ e wim |11 8 Wi mmTwﬁm,@; gl sl by o ¥ 4460 Find the 21% term
© ﬂw%ﬂ&mwﬁdm_ . w s 13:9 % cw Rl ”wwsu_wzn e Tenk D 8y I R of the sequence 26, 20
(D, Forl FarE ™ Gm_uw.mu._ w..mﬂmm.w i I 991,66 H @) 88 , 20,
104 %qu S &wm&éﬂﬂ_ b EaKa“wﬂﬂma&mMmﬁﬂ_ _ 118 %u OIS O s © -100 ® 94
.W,.mm@.m._ﬂ.ﬁ R HCFis 13, in the rati | | . = wTEER P ) 229733 poe
(A) T TRAE a7 (A) 145 a.&s?%a%sf E ] , Q 3R R T 33 i ) 146
©) HaEm ®) :A.wmu_%ﬁﬁaﬂ 169 An:_.y__awﬁnssw.na. S by p 5t ot - e
oo bl RN T T e, Q @ . et |
105, Frefiifaa ©) AT ofe e % At - ok % 3ik Wy 2ofa 3.86 R
ﬁﬂﬂa&m.ﬂﬂm_ﬂ_dﬂﬁ”ﬁ mwﬁdgwn._dw.dﬂ.mmwbdoﬁ #21 3 Mmqmaﬂ.ﬂﬁﬂﬂdﬂnwﬁ.ﬂm@.w% AT T BT ﬂ@mﬂﬁﬂ.ﬂ %ﬂ
o] %Sm i Tl 8 & m%ﬂ.ﬂnﬂam,,swﬁm _%M” Three vws@dmgiww_m“ﬁm ek _.:wuwﬁu hdiiad
() =E () s uww._..nw of Roh ? = i business. s P, O and 2 hectares, Find 90_3_;H N
106 0213, Ifthe s and Soh k. -0 thrice Q" ice P's capi R sttt 2 rate of 23 st of fencil is 13.86
. wﬂ?ﬁmﬁm_ﬂ_ @ D) ) ﬂ.wrwu..oao_ann:u%q of sach is incre the | to four m”.mﬂ.s_ and o.w_w_ is equal to (I hee .2 per metre. cing it at the
@mﬂﬂ%ﬂﬁ. = A - ,wmarﬁ_mﬂnﬁa Enoaﬂgmcaaa. mﬂ 4 profit of T Nn.w R’s sm._g_.nm_s_ is equal - sare = 10,000 7%)
(n) PR X R © awa.oae wmumﬁai..q 2 opn, Rsshareis: 500 at the end i of total ) 26,132
(C) TEEEE (B) Frrmdnm us. g o) 230000 W (A) 21000 The ety (C) %5808 ® 5138
107. FreifEd D wg, 20% 100 T ® 22 . o 2
(D) fafesines o8 o 10T i ,000 500 123 4,224
#a e o 3 s oTd A I E : 119, TEEE ® i g 9 Pl
e A T T e ok b oA 000 e
we? &1 wEmEErE $rden il afea a3 W A &
&) Am s o el ?%u.uw.ﬂwm_h%_ﬁmiﬂ 3 e ﬁaﬁn»ﬂwh 25 HR
© (B) T i k@ 5 &Q&ﬁ%ﬁﬁ%ﬁw& . A ? by
108. P i (D) W4 I FrgewEn ¥ 3 u<aan<5.mn bkl 27 - g -
anf- - fipemi n a certain -t ayseuge of o o umbers is 3.75. Th square field a boy take ¢ ELR S
[t Rt kic below school, 20% reell erage of oth them Js 3.2, W 5. The at of side 25 o run 3F_$h\w
(A md b 10:years % of students ] A average of er two is 3.5 , while the the rate of 9 metres, i a
mﬂm.ﬂﬂ H . ok sga. THE | T (A 4 the remining - What is the 9 Jrn/ba 7 + if he run
109 - S g - dents above 10 years 0 pumber o0 17 B 9 i ® two mumbers (A) 48 Fese 2
§ i 3 i 8 = C.
; MM& gnﬁﬂﬁswﬂ e - a9 the number of years of 8g¢ 2o W 120, o g T PR @) 43 (©) 42¥EEse (B) 40%Es
= Fif i 3 which is 48 students of 10 398 ﬁ%ﬂﬁﬂﬂg . e (D) 3B ec.
(A) T [ @ students i . What is th years 882 - N aritd .4 g ECT
(c) e ®) @ 110 _558_%_%:_53 F 2 wE . w5 i 6 wgel =
1 ‘. ) 116, .__a (B) 90 d 3 £ 7 3 w = o A S—
10. ‘FrTEET (D) TR . T HE (C) 100 - R 10% Eit wafs ¢ =5 10 fii
(A el T i 119 3 RrRE @) 80 N o e T wm it g Rl a4
) TR I 3 o T =S ARG FAw ST i et J s e 2 el & wrgPrat
- weraelt (B) iﬂﬂam . >ﬁuﬁu@a 17 % R ot T g ,. aricle is sold at a cerai . wEE A Eia
.._.,R.u,i\zi:.::....a,z (D) ¥R in _ow_ﬁ.mﬂ E_Ew divided Bk | selling it at o cerain price. By s 1 frry N&Mafﬁ_
o ) as remai vided b ; : t pri 4 boys and 6 gi
2 sl Ararne ) ! e e ) ey
" B2 (03P () 38% RO CE ey dys o bl ML
. A © 3% (B) 30% Bk an 4 boys and MVM 1 :owh
< A o) 25% (A) 30 rls do the
i - © 2 ® 27/2
= 17 ,i......cne.ag 25/2
a- s e
RS




Premtuciion (im Lakhe)

125.

126.

127.

128.

129.

—

{ R ag L
g 125 129 : e T s 4 [130, e g o & afe P ww SR | s i o e 3 e
”?aﬁgﬂﬁﬁwgm_ e &, 3 9@ safEwl i g R s , s ﬁew!_anammm.&iwgm il Mwhﬂuﬁwﬂuﬁn.@dﬂzm% @wh
Q. Nos. 125 to 129 : Study the bar graph o4 it ) gl 3, o 9% g R wen %«ﬂmmﬂﬁmn.auwn_ﬂwwmﬁﬁh , umﬁﬂﬂ«._aw..mﬂa\
3 5 n 2 i d I FHAN
and wﬁ“wﬂﬂ&.ﬁmﬁm-ﬂwﬂ”ﬁm: T w7 sequentially placed at the gaps in the . Y o M.Q»-Ww Fq
Proucrion of Medik by company (In Lakhs) over the years In the given figure if Triangle represents mu.,%.w_w:ﬂmmwm_omn&h___anosu e o M\m 3 T ST
e healthy people, Rectangle represents old A) nm m_.smﬁ nmadnna Wﬁ&m& mﬂu_._mm.nmm b i 7
persons and Circle represents men, then nw mnadmna W nmaadna o ; ¥ T = ot At
what is the number of those men who are 135, o e e R a8 w fawen o] N %ﬂﬁ-% 7
¥ . healthy but not old 7 = . mmm: = nm_nﬂwa b s & -
L 1 3 . {3 termat’ .
o e 20w 008 2006 10T 20 5T ml.%“ mﬁ.wm_mmnnﬁwmwrmmm_mﬂmwosmm_nso ,munwn_.._mm‘ 1. ® T F m.wﬂﬂ._ﬂ_ ks
: 8,23, 38, 53, 68, ( it | 5
2005 3R 2006 ﬁ%ﬁuﬂ_ﬁ 3 gk A) 87 (B)83 (C)85 D78 L ifﬁﬂgﬁﬂdﬂﬁmw
foefetfaa @ frm a9l & 91 % e 136. Emﬂwuﬂu;wwv 20 e T g R e #
e & faerge a1 2 . ] TEM @R |
The average production of 2005 and | (A} (B)S () qo+ QS el b 1L | et & e 4gd A
2006 was exacily equal to the average |1 zfa o3 g1 3 wm 3, <+ F1 39 oW & 1ss A) Trench B) Pit 1 o s A & | ' W
production of which of the following L 5 ¥ ThE, e an Burrow D) Hole Y wte AE T |
pairs of years ? " 1 37 T & i F i S R, @ " \.\NW 137. BPMN : C! ZO”"m._.mer H T o i wr
2002 3% o5 63x24+8+4+2-3=" o A) EUQH N B v dimen Wy -
(A) 2002 31/ and 2007 \@QAW\\\ hal A ek ; Tz an HU Muw DUGN i AavaARde EaEae |
(B) 200438/ and 2005 25 multiphication, *x* stands for it : 138, i st i Rt P € 7 (A) e 11 3 I g E |
(€) 2004 ¥ /and 2006 gtb - 792 and " stands for addition, then ¢ 5-¥5 9T TS +3 How many iriangles are there in the (B) et 1 3L 11 T )
(D) 2006 3%/ and 2007 5735° 63x24+8:4+2-3=1 following fieice * o|@)elR] (o) e st i w
2001 # e 2008 H A W6 B0 ©6l OB 4 5p2 slp(vl¥ o Fewiemdl
3 e W g 0 2 7 132wt d AR o R g _ Question, diven below cemsists of -a
It : ) : -6t our
i s the, spprotiae pecenge | cinoR g @ wu @O OB O s 1. 11,11 nd 1V, o Bave o
compared to that in 2001 7 Choose the eorrect mirror image of the ‘ 139, T mfE T e A 9 P e 2, R decide which of the argument(s) is/are
(A) 200% B) 183.33% given figure (X) from amengst the four L35 " el S & iR 4 el e 2, R ‘strong’ Hm:n_ama and which is/are
() 195% ME 166.67% alternatives 7 T B i 10 Fref e &, B ‘weak’ argumeni(s) and accordingly
o Ll 3 3 w3t g # SN 10 TR < 8, choose your answer from the altematives
fem et i & o e 4 e 51 g 1 b :a ) ! F = 3iie e i 4 Rl e E ) iven below the question :
fou g et 3 3fea Iae A afum w7 i feafa A Rl g2 2 2 tatement : Should India go i
? e T z Shoulc! Ir n for
In how many of the given years was the A pérson moves in north direction by computerization in all’ possible
production of mobiles more than the X) (1) (2) (3) [ s, 9 km, then turns left and moves 4 km, sectors 7
average production of the given years ? M4 @2 ©3 Ml >y o again tumns left and moves by 10 _km, Arguments :
A4 (B2 (©3 D1 b o e again turns left and moves by 4 km. How L~ Yes. It will bring efficienc
B ) o e B 133 T A kR o e i far the person is from initial position ? accuracy in the work, 0 10
.m.w o u,_mﬂ Eals = T & A & @ ) :ﬁe:i ®) N?&hﬂ“ I No. It will be an injustice 10 the
In which year s.mm‘ the percentage o, i, eft : . f: 140 %@wﬁm%ﬂ:ﬁ@ﬁmﬁaw e which are at present underutilized =
increase in production as compared 1o Choose the Venn diagram which best . P 3w UL No. Computérization demands a 1o
the previous year the maximum ? explains relationship among given : i3 e R g g, o 12 of money. We should not wagg.
aP 007 B 2003 Husband, Family, Wife 4 7= 3 el A F A Tooacy on it Aate
(C) 2005 (D) 2002 TR 1R TR | IV. Yes. When advanced countries gy
5 O A In the following question, one word is introducing computers in ey,
2003 B 2004 ¥ WEEE & IEEA § (A) (B) 2 $3 given, .,a_,cs.&m by four words, one of field, how can India afford 1o Ma.
wferera fre wn ot ¢ O O W.W which cannot be formed using the letters behind, ag
What was the approximate percentage 4 ofthe kiven word, Fiod Gat e 5 %,_"w “_ww_ﬂn_“_ﬂ Enh:.o:w.
il W : ; o are strong.
mmn_,:n in the %:ue._n_a: of mobile from © E; %gﬁﬂmﬁ.ﬂGZm STATION C On_w._ and 11 are mnh__mn.
03 to 2004 7 O (D) an RATION AEW MIND D) Only Iis strong.
e ) 29% (B) 23%(C) 27% (D) 21% AT AT
e i A R e i e . A A A A T AU, A A T, A Y AN A AN R O 3 <
18 A A 19 B —Nw
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142, A few e v & o wod sthamE Al

it 11 Ewifena &1 momd € | s
FA 3R feafafan wonsdt w frn
w1 2 o fofs d R fr oam A
urom(¥) wum i iafifea 2/8
mmﬁ"ﬁﬁ._ﬂwnﬁﬂ_m._dwguﬂﬂ%_
gt = |

e : 1. A 27 F o ST §
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In the question below a statement |,

followed by two assumptions numbered 1
and Il is given. You have to consider the

statement and the following assumptions
and decide which of 1

is/are implicit in the statement.

Statement : Imprisonment for 27 years
made Mihir Kalal the President.

Assumptions :

I One who will be imprisoned for 27
years will become the President.

II. To become the President
imprisonment is a qualification.

(A) Neither I nor I1 is im: 3

(B)  Only assumption mplicit.

(C) Either I or Il is implicit.

(D)  Only assumption I is implicit.

¥ . 143 8 147 : e 6 3 hopen v 3
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Q. Nos, 143 to 147 : Following are the criteria
for selection of com :

organisation :
The candidate must —

be a Computer Engineer or MCA with
first class having minimum 65% marks,
have secured at least 50% marks in the
Selection Test.

have secured at least 40% marks in the ;

Interview.

not be less than 21 years and not more
than 30 years of age as on 1-10-2005.

In case of candidate who satisfies all other
criteria, except :

At (1) above, but is an Electronics
Engineer with 70% marks, the case may
be referred to the GM, Recruitment.

At (2) above, but is having at least
2 years’ experience of working as a
Systems Analyst, the case may be
referred to the Chairman, Recruitment
Committee.

In each of the following question,
information about one candidate is given.
You have to analyse it with reference to
the above criteria and condition and then
decide the appropriate course of action.
You are not to assume anything other
than the given information. All these
cases are given to you as on 1-10-2005.
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Modi Jay did MCA in 1998 with 70%
marks at the age of 22 years. He scored
55% marks in Interview and $5% marks
in the Selection Test. He joined an IIT
company in 1999 as programmer and got
promoted as  Systems  Analyst in
December 2002.
(A) If the case is to be referred to the
GM, Recruitment.

(B) 1fthe candidate is not to be selected. | 146+

(C) IF the case is to be referred to the
Chairman, Recruitment Committee.
(D) Ifthe candidate is to be selected.

¥ 1 T T 6 T, 1976 T g A |
IR = i 3 70% 3w 3R
i 429 i S fikg |
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(B) afy Iaftcam F1 = Tl B W

(D) ot Fefean & v R g |

Sanjay is a Civil Engineer with 75%

marks, He was bom on 6 July, 1976, He

scored 70% marks in the Selection Test

and 42% marks in the Interview.

(A} If the case is to be referred to the
GM, Recruitment.

(B) Ifthe candidate is not to be selected.

(C) If the case is to be referred to the
Chairman, Recruitment Committee.

(D) Ifthe candidate is to be selected.

145, foror, o drag i, 2003 % 22 7
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Vijay, a Computer Engineer, mw.ﬁ.nn_ ..uE

with 72% marks in the final examination

at the age of 22 years in uo..ou. He

secured 70% marks in the Selection Test

and 48% marks in the Interview.

(A) Data inadequate.

(B) Ifthe candidate is not 1o be selected.

(C) If the case is to be referred to the
Chairman, Recruitment Committee,

(D) Ifthe candidate is to be selected.

3ifea 3 dFomet (amd) F 80% Fiw AR
i R § 78% ¥ wra R )
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(D) = Fefigam 1 wam R am &
Ankit scored 80% marks in B.Se. (IT)
and 78% marks in  Electronics
Enginecring. His scores at the Selection
Test and the Interview are 55% and 6024
respectively. He has been working as
Systems Analyst since 2001. His date of
birth is 19% April, 1980,

(A) If the case is 10 be referred 1o the

GM, Recruitment.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred 10 the
Chairman, Recruitment Committee,

(D) Ifthe candidate is to be selected.
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You are an Investigating officer; the

primary accused in a VIP assassination

case is offering huge bribes for

manipulating evidence and influencing

judges to ensure acquittal. You should :

(A)" avoid investigating as per your
independent professional judgement.

(B) remain uncorrupted and present
facts transparently in court,

©) ?rm;er;d to agree but submit weakly
abricated bogus evidence.

(D) comply on tecords ‘but secretly
collect dialogue against accused.

M U Yferd e ¥ w9 F dam ¥
T W wE wetm $ ait qwel @
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(D) =R § wf oo Fi swrh
m%fﬁ:ﬂaﬁ?ﬂ]ice officer; to
grg:e?;éegxgher cases of card cloning at
&'I)“Ms, yoﬁta;:ould i
e thodology.
(B) emﬁ?ﬁ?ﬁ%‘ﬁ%ﬁ? acct;sg ‘ﬂ%s
(C) ]g?;c%nglﬂatgltfssérvgr each in all ATMs

identify suspicious-accomplices.
o e, isable all ATMs in

the jurisdiction.

card " cloning . machine
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You are a constable in a special cell that
deals with cyber crimes and online frauds
You have been trained in various aspects
of cyber security and digital forensics.
Huwcv':er, due t0'a shortage of staff, you
are assigned to a patrol duty where you
have to patrol the streets ang respond to
emergency calls. You feel that this is 2
o bo.nng and mundane tagk that does not
Suit your expertise, Yoy should :.
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do the patrol duty enthusiastically
and learn from the experiences of
other patro] officers,

do the Patrol duty reluctantly and
complain about i 1 your superiors
and colleagues, 3

do the patrol duty byt constantly
look for opportunity of taking leave.
refuse to do: the patrol duty and
insist on staying i 11,
ins Ying in the cyber cell. |
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